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1)5-9=
45
2)9 8=
72
3)5-6=
30
4)6 8=
48
5)4 4=
16
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6)6 9=
54
7)5.5=
25
8)9-6=
54
9)9.3=
27
10)9 .4=
36
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YNpocTn
1. 5a+4a =9a
2.98B-3B =6B
3.48x-x =47x
4.22y+y =23y

5.10a+8a-5a =13a
6. x+12x-3x =10x



O e R S R s
) Packpow ckoOkn

1.2(3x-2y) =6x-4y

2. 5(5x+3y) =25x+15y
3. 3(4x-6y) =12x-18y

4.(3y-9x+4)2 =6y-18x+8
5.(4x+4y-1)3  =12x+12y-3
6. (3x+4y+7)4 =21x+16y+28
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Bblyuncnu:

A

1. 23-45 - 23 -35= 230
2.43 34 -43-33= 43
3.73:24+73 -76= 7300



PR R e e b e S P P e M P S e e e
A= YNpocTu :

1)9-5-a =25a

2)7 -B-S5 =35B

3)2 -x-7 =14x

4)5-a-6 =30a

584y =32y

6)3-5-x =15x



R e W TR I I R I I R W W R e g s

I DI I I DI I I IIIIIVIIIIVIIIIVIVIIII

Pellun ypaBHEHUS:

6x+4x=120 8x-3x=50
10x=120 5x=50
x=120:10 x=50:5
x=12 x=10



